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t3l [22 POTNTSI

Let Y =- 5sin(f x +!)+2.

lal Fill in the blanks. Simplifu your answers.

Maximum -/ - value =

Middle -/ - value:

Minimum y-value:

Point 1: (

Point 2: (

Point 3: (

Point 4: (

Point 5: (

tbl Find the coordinates for all points corresponding to the middle, top and bottom of the graph of the function

for 2 complete periods, startins at the phase shift.

Amplitude:

Period:

Phase shift:

Point 6: (

Point 7: (

Point 8: (

Point 9: ( )-

lcl On the graph paper below, sketch a detailed graph of 2 complete periods of the function using the information from [b].
You must label all x - and y - values from part [b] on the appropriate axes below.

You must use a consistent scale for each axis in order to receive any credit.
If two adjacent tick marks represent numbers w'hich are a certain distance apart in one place along an axis,
all other adjacent tick marks must represent numbers which are the same distance apart on the same axis.
You do NOT need to label each tick mark on each axis, only the ones you found in part [b].

CONTINUED ON THE NEXT PAGE
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